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FEERNRE FIBFEEERBFGOEBRBFRBEBRAKITOV N 24 8ETE

% L IR - WAKTiE B o = B {f oo ) =
EEIZE 58,513, 582
BRIE (BB 58,513, 582
AT [Javso=] 14, 377, 504
tLS—Jny s EET 14, 377, 504
V=240 T8%K 131, 200
1T L—T4078H 160. 00 820 131, 200
m2
$% 55 0 T#E T 2,577, 350
2 HEHMIMEIO D13 7,877.00 174 1,370, 598
kg
3 HEHMIMEIQ D16~D22 7,016.00 172 1,206, 752
kg
MM EE 194, 400
4 REBMHE 1.00 194, 400 194, 400
=
Y351 ihoa 87,634
5 FEkERAET 1,019. 00 86 87, 634
kg
SHBLEY AR ST HE S 7,184, 820
6 S BRI 4E ST HASY 1,080. 00 5,959 6, 435, 720
m2
T e R BB 66. 00 8,310 548, 460
m2
8 (LR BHERE 66. 00 3,040 200, 640
m2
avhy— TR 4,202,100




BERNRE SIREERBEEBEFRE(GOREMR)EFE@RRIAKTOvIN2HHETIS
4 [} R - KT iE B #H =2 il * H i
9 avyy— T 30-12-20BB W/C=50% 175. 00 24,012 4,202,100
m3
AMAT [IBv I RA] 40, 042, 746
AMAIJoy /o EET 40, 042, 746
FARAIF7ILETY FHHE 4,461,798
10 FRZ7IL bRy hHHE 1.00 4,461,798 4,461,798
=
EER T R SN 3, 395, 604
11 SR HH B IHEEH 1, 686. 00 2,014 3, 395, 604
m2
RSB EE 1, 100, 600
12 REBHHHE 1.00 1, 100, 600 1,100, 600
=
kAR #A ST 403, 452
13 RmEkER#AsL 4,803.00 84 403, 452
kg
SMELR Fr 4R T HE Y 7,876, 786
14 SHE R HE 4R S 1,734.00 4,104 7,116, 336
m2
15 LB A E 67.00 8,310 556, 770
m2
16 {EHERBBERE 67.00 3,040 203, 680
m2
avy ) — TR 22, 804, 506
17 a9 )— TR 18-8-40BB W/C=65% 1,059. 00 21,534 22, 804, 506
m3
#HE - iRET 2,671, 458




HENRE SR EIEEBERGH DR BB R R BRI Oy 5 24 BT F

% L IR - WAKTiE B o = B {f oo ) S

RBEIJOvIID 1,367,548

HBEITO Y7 E#ED 1,292, 800

18 REATO v 8ED 4.00mx 2. 50m x 1. 20m 4.00 323,200 1,292, 800
&

M E 11,160

19 BEb#HE 1.00 11, 160 11, 160
=

R EE 50, 400

20 REKHHEE 1.00 50, 400 50, 400
=

Y351 ihoa 13,188

21 REkERMETT 157. 00 84 13,188
kg

RBEIJOVHIIQ 521, 064

W—T 4o T8HK 11, 480

2 V—71 o T8H 14.00 820 11, 480
m2

R EE 16, 880

23 BEGHMEE 1.00 16, 880 16, 880
=

8k AR AL 4,368

24 FREKARHANT 52.00 84 4,368
kg

SHBLEY AR ST HE S 155, 952

25 SRR ARSI AL 38.00 4,104 155, 952
m2




FEERNRE FIBFEEERBFGOEBRBFRBEBRAKITOV N 24 8ETE

£ g g - BAKTE BfI 8 2 B ki £ wmE

a2 1) — TR 332,384

26 a2y ) — T 18-8-40BB W/C=65% 16. 00 20,774 332,384
m3

H{EITAYHI IO 782, 846

=4 VT8 17,220

21 L—T 14 VT EHK 21.00 820 17,220
m2

REmMEE 27,920

28 REBHmMAE 1.00 217,920 217,920
=

A B AR #A 3L 8, 568

29 REkmHAL 102. 00 84 8,568
kg

£ U B Hr 4 ST AR S 196, 992

30 %R He4E 3T 4E 4 48.00 4,104 196, 992
m2

a2 1) — TR 519, 350

31 oYy )— T 18-8-40BB W/C=65% 25.00 20,774 519, 350
m3

WG E RE 2,596

32 FERAFC R ER 1.00 2,596 2,596
]

nnE 10, 200

33 o (bR 1.00 10, 200 10, 200
=

RE&T 1,421,874
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% # B - BT By g B ff & = ]
RERE 1,421,874
XBFEERE 1,421,874
U ZEFEERE 1.00 1,421,874 1,421,874
=




WIER FIBFEEERBFGOEBRBFRBEBRAKITOV N 24 8ETE

% g R - KSR Bifr B 2 B i & B W =
EEIEE 58,513, 582
MEIEE 5,980,006 + 15,691, 289 21,671, 295
HBRBE GD 5,511,979 + 468,027 5,980, 006
HBERER (R) 58,513,582 x 9.42% (7.92% +1.50%) 5,511,979
RSRERER 58,503,382 x 0.80% 468, 027
RisEEER 64,493,588 x 24.33% (22.78% +1.55%) 15, 691, 289
TER 58,513,582 + 21,671,295 80, 184, 877
—REEES 80,184,877 x 16.11% (16.11% x 1.00) — 4,733 12,913,050
LR E 80,184,877 x 0.04% 32,073
T &l 80,184,877 + 12,913,050 + 32,073 93, 130, 000
HETEALE 93,130,000 x 10.00% 9,313,000
FEIZRE 93,130,000 + 9,313,000 102, 443, 000
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 :1
B IL—T 1 VTR 100m2% Y
2 b g - BIRTE BT o = B O %8 # " =
=24 T8
m2 100. 00 510. 00 51,000
i t =10cm
m3 10. 00 3,100. 00 31,000
& B 1E%HEH : 100.00m 2 820. 00 82, 000
&5 :2
& HEMIMHEILD DI3 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D13
k g 1,020. 00 100. 00 102, 000
HEMIMEIL(LE/)T0y 9 EE) yL—rtkE
k g 1,000. 00 67.00 67,000
yR—59 L—r GhEEEER) 35t
B 0.10 51, 000. 00 5,100 8H
& Hi YEZHeH : 1,000.00k g 174.00 174,100
&5 :3
L $kEFINTHAIQ D16~D22 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D16~D22
k g 1,020. 00 98. 50 100, 470
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 67.00 67,000
yR—59 L—r GhEERER) 35t
B 0.10 51, 000. 00 5,100 8H
& Hi YEZHEH - 1,000.00k g 172.00 172,570
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5 :4
£ RESHMRE 1LY
£ b L - BIRTiE BAf H = B %5 # " =
B @36 L=2. 65m
ZN 40. 00 4, 860. 00 194, 400
& B 1YE%HeRH 1,00 194, 400. 00 194, 400
F5 .5
L REKARHAL 1000k g4
£ b L - IRTiE BAf H = B %5 # " =
RERAR - R/ \—HL SRAREI8MEKH Y L— R E
k g 1,000. 00 81.00 81,000
20—5%9 L— GHEESR) 35tH
B 0.10 51, 000. 00 5,100 8H
& Hi YEZHeH : 1,000.00k g 86. 00 86, 100
ES .6
UL Y VR )N 100m2 %Y
£ b L - BIRTiE BAf H = B %5 # " =
AR AT HAS (LT Oy o &) g L—odkE
m2 100. 00 5, 500. 00 550, 000
20—5%9 L— GHEESR) 35tH
B 0.90 51, 000. 00 45,900 8H
& Hi YEZERES : 100.00m 2 5,959. 00 595, 900
&5 .1
B AR R AR B Tm2%Y
£ b L - BIRTiE BAf H = B %5 # " =
e RS E
m2 1.000 8,310 8,310
= it YEEREN : 1.00m 2 8,310 8,310




Rifiz -/ \v7r—o

FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

5.8
£ EHERRERE Tm2%Y
2 b g - BIRTE By = B O %8 # " =
LR RERE
m2 1.000 3, 040 3,040
= it YEEREN :1.00m 2 3, 040 3, 040
5.9
& avy)—+iTEk 30-12-20BB W/C=50% 10m3%HY
2 b g - BIRTE By = B O %8 # " =
LT4—3HRbarvy)—+F 30N-12-20BB
m3 10.10 19, 200. 00 193, 920
aVHU—MTERLELIT Oy Y EE) yL—rtkE
m3 10. 00 3, 600. 00 36, 000
yR—59 L—r GhEEEER) 35t
B 0.20 51, 000. 00 10, 200 8H
& Hi YEZERESN - 10.00m 3 24,012. 00 240, 120
&5 :10
B TRI7ILET Y HE B
2 b g - BIRTE By = B O %8 # " =
EREXATY O 3. 50m x B2. 00m x t0. 08m
® 18.00 84, 000. 00 1,512,000
EBEREAXATY FQ L2.90m x B2. 50m x 0. 08m
® 14.00 87, 000. 00 1,218, 000
EBEREAXATY O 3. 50m x B2. 00m x t0. 08m
® 18.00 84, 000. 00 1,512,000
EBEREAXATY @ 3. 50mx B1. 37m x t0. 08m
® 1.00 57, 500. 00 57, 500
EREAXATY O L2.90m x B2. 375m x 0. 08m
® 1.00 82, 600. 00 82, 600
EREAXATY O 3. 50mx B1. 37m x t0. 08m
® 1.00 57, 500. 00 57, 500
MR ELNOY
% 0.50 4,439, 600. 00 22,198
& B 1E%HeH - 1.00K 4,461, 798.00 4,461, 798




Rifiz -/ \v7r—o

FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 11
£ SRR ISR 100m2 %Y
2 b g - BIRTE BT o = B O %8 # " =
HH A E RIS R A (FERELE) yL—rtkE
m2 100. 00 1, 900. 00 190, 000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.30 38, 000. 00 11,400 8H
& Hi YEZERES : 100.00m 2 2,014.00 201, 400
5 :12
£ RESHMREE 1LY
2 b g - BIRTE BT H = B O %8 # " =
BHDO ¢ 32 L=3.40m
ZN 72.00 4, 880. 00 351, 360
RHQ @36 L=3.35m
ZN 56. 00 6, 150. 00 344, 400
BHG ¢ 32 L=3. 45m
ZN 72.00 4, 950. 00 356, 400
BHD @28 L=2.75m
ZN 4.00 3,620.00 14, 480
RBH® ¢ 32 L=3. 35m
ZN 4.00 4,810.00 19, 240
RBHO ¢ 28 L=2.80m
ZN 4.00 3, 680. 00 14,720
& B 1E%HeH - 1.00K 1, 100, 600. 00 , 100, 600
&5 :13
L REkARHAL 1000k g4
2 b g - BIRTE BT H = B Ol %8 # " =
BEkE - m/N—#L SRAREI8MEKH Y L— R E
k g 1,000. 00 81.00 81,000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 38, 000. 00 3,800 8H
& Hi YEZHeH - 1,000.00k g 84. 00 84, 800
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&S 14
£ SRB AN 100m2%Y
2 b g - BIRTE By = B ) # " =
SHBL R AT AR S (TR ELE) Y L—UiRE
m2 100. 00 3, 800. 00 380, 000
ST7TL—r9L—2r HEHEARRER) ChEfES IR 16tH
B 0.80 38, 000. 00 30, 400 |8H
& Hi YEZERES : 100.00m 2 4,104.00 410, 400
&5 .15
CY N (R iy A R Tm24yY
2 b g - BIRTE By = B ) # " =
e B A AR
m2 1.000 8,310 8,310
= it YEEREN : 1.00m 2 8,310 8,310
&5 .16
£ EHERRERE Tm234yY
2 b g - BIRTE By = B ) # " =
LR RERE
m2 1.000 3, 040 3,040
& Hi 1E%HEH : 1.00m 2 3, 040 3, 040
&= .17
& a4y ) —+4TEk 18-8-40BB W/C=65% 10m3%HY
2 b g - BIRTE By = B ) # " =
LT4—3HRbary)—+F 18N-8-40BB
m3 10.10 17, 400. 00 175, 740
a2 1) — TR (FHREE) AVEZ T
m3 10. 00 3, 200. 00 32,000
ST7TL—r9L—r (HEHEARRER) ChEfES IR 16tH
B 0.20 38, 000. 00 7,600 8H
& Hi 1E%HESH - 10.00m 3 21,534.00 215, 340
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 :18
£ BREITO v HEED 4.00mx2.50mx 1. 20m REED
2 b g - BIRTE By = il %8 # " =
HREITO v Y EED 4.00mx 2. 50mx 1. 20m
& 1.00 323, 200 323, 200
& Hi 1EZHEH 1. 001& 323, 200 323, 200
= :19
£ BRHMHE 1LY
2 b g - BIRTE By = il %8 # " =
i t =10cm
m3 3.60 3,100. 00 11, 160
& B 1E%HeH - 1.00K 11, 160. 00 11, 160
5 :20
£ RESHMRE 1LY
2 b g - BIRTE By = il %8 # " =
B @25 L=2. 55m
ZN 16. 00 3,150. 00 50, 400
& B 1E%HeH - 1.00K 50, 400. 00 50, 400
&5 : 21
L REkARHAL 1000k g4 Y
2 b g - BIRTE By = il %8 # " =
BEkE - m/N—#L SRAREI8MEKH Y L— R E
k g ,000. 00 81.00 81,000
STFL—29L—r A AR ER) ChEffES IR 16tH
B 0.10 38, 000. 00 3,800 8H
& Hi YEZHEH :1,000.00k g 84. 00 84, 800




Rifiz -/ \v7r—o
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&5 :22
B L—T 1 U TEEH 100m 24y
2 b g - BIRTE BT o = B O %8 # " =
W=D 4 UTEER
m2 100. 00 510. 00 51,000
i t =10cm
m3 10. 00 3,100. 00 31,000
& B YEZERES : 100.00m 2 820. 00 82, 000
5 :23
£ RESHMREE 14y
2 b g - BIRTE BT H = B O %8 # " =
B @22 L=2.20m
ZN 8.00 2,110.00 16, 880
& B 1E%HeH - 1.00K 16, 880. 00 16, 880
E5:24
L REkARHAL 1000k g4 Y
2 b g - BIRTE BT H = B O %8 # " =
REKAR - M/ \—HL KA EI8MEKHE Y L— R E
k g 1,000. 00 81.00 81,000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 38, 000. 00 3,800 8H
& Hi EZEEH :1,000.00k g 84. 00 84, 800
&5 :25
75 SRBRAAT SN 100m2%Y
2 b g - BIRTE BT #H = B Ol %8 # " =
SHBL R AT AR S (TR ELE) yL—rtkE
m2 100. 00 3, 800. 00 380, 000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.80 38, 000. 00 30, 400 |8H
& Hi YEZERES : 100.00m 2 4,104.00 410, 400
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 :26
a4y )—+4TEk 18-8-40BB W/C=65% 10m3%HY
2 b g - BIRTE BT o = B O %8 # " =
LT4—3HRbarvy)—+F 18N-8-40BB
m3 10.10 17, 400. 00 175, 740
a2 1) — TR (FHREME) avHyy—hrSEXFYy—H
m3 10. 00 3, 200. 00 32,000
& Hi 1E%HESH - 10.00m 3 20, 774. 00 207, 740
&5 :21
B L—T 1 U TEH 100m 24y
2 b g - BIRTE BT H = B O %8 # " =
W=D 4 UTEER
m2 100. 00 510. 00 51,000
i t =10cm
m3 10. 00 3,100. 00 31,000
& B YEZERES : 100.00m 2 820. 00 82, 000
5 :28
£ RESHMRE 1LY
2 b g - BIRTE BT H = B O %8 # " =
B @28 L=2.65m
ZN 8.00 3, 490. 00 217,920
& B 1E%HeH - 1.00K 217,920. 00 217,920
&5 :29
L REkARHAL 1000k g4 Y
2 b g - BIRTE BT #H = B Ol %8 # " =
BEkE - m/N—#L SRAREI8MEKH Y L— R E
k g 1,000. 00 81.00 81,000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 38, 000. 00 3,800 8H
& Hi YEZHEH : 1,000.00k g 84. 00 84. 800
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 :30
£ SRB AN 100m2 %Y
2 b g - BIRTE By = B O %8 # " =
SHBL R AT AR S (TR ELE) yL—rtkE
m2 100. 00 3, 800. 00 380, 000
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.80 38, 000. 00 30, 400 |8H
& Hi YEZERES : 100.00m 2 4,104.00 410, 400
&5 : 31
& avy)—+4TEk 18-8-40BB W/C=65% 10m3%HY
2 b g - BIRTE By = B O %8 # " =
LT4—3HRbarvy)—+F 18N-8-40BB
m3 10.10 17, 400. 00 175, 740
a2 1) — TR (FHREE) avHyy—rIEXFYy—H
m3 10. 00 3, 200. 00 32,000
& Hi YEZERESN - 10.00m 3 20, 774. 00 207, 740
&5 .32
& FERFEHRER HEED)
2 b g - BIRTE By = B O %8 # " =
ERAF R ER
[=] 1.000 2,596 2,596
& Hi 1YEZHER - 1.00[E 2,596 2,596
&5 .33
£ W5 E (LR 1LY
2 b g - BIRTE By = B Ol %8 # " =
W E (LR
t 0.20 51, 000. 00 10, 200
& Hi 1E%HeH - 1.00K 10, 200. 00 10, 200
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FIREEREAESR(GOEBRBREGRIAKIOv N 2M4EETSE

&5 : 34
& REFELEHER IEED)
£ 5 L - BIRTiE BAf = B & % i 1%
RBFEEHFEB
A 108. 00 13, 100. 00 1,414, 800
HEMH 2EDY
% 0.50 1,414, 800. 00 7,074
& B 1YE%HeH - 1.00K 1,421,874.00 1,421,874
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